Arrow Pushing
The arrow always starts at a region of high electron density (lone pair, sigma or pi bond) and moves towards a region of low electron density (cationic charge, partially positive center or an atom with “pushable electrons”).

· Use double-headed arrow for movement of e’ pairs (for ionic or polar reactions). 
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· Use single-headed arrows (aka “fishhooks) for movement of a single e’ (radical reactions).
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Arrow starts at a bonding pair of electrons and 

ends at an adjacent atom creating a sextet at 

the originating atom and a new lone pair at the 

terminal atom.
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Arrow starts at a lone pair and ends at at sextet 

creating a new single bond or converting a single 

bond into a double bond (or a double bond to a 

triple bond).

Bond Breaking

Bond Making


Watch for violations of the octet rule (especially for 2nd Period elements!).  Always draw specific atoms at al centers undergoing a transformation, especially hydrogen atoms and lone pairs).

Draw arrow in the correct direction!  Arrow starts at the donor and goes towards the acceptor.  It is easy to think of a hydrogen atoms (a proton) attacking a double bond or a lone pair, but correctly, it is the double bond or lone pair that is attacking the proton.
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